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5| 23 S| E YNBSS A D 4,400 100% 4,400
5[ 31 A ARRE. BIHFEEGEH 1S 9,600 100% 9,600
5[ 31 6| FEAFHBEHSA S 3,300 100% 3,300
5[ 31 IFHI=ERIBHEMFH 8,730 100% 8,730
6| 8 12|t B B4 A5 1,540 100% 1,540
6| 8 13| A ERE A S 1,540 100% 1,540
6| 23 16|FcHE Y NEFREM6 A D 4,400 100% 4,400
6| 23 17| FEB#RBEHEM6A D 3,300 100% 3,300
7| 4 23|lE e FHEBETRH1ES 2,110 100% 2,110
7| 4 24| EFFE. THEBGETAINAS 2,987 100% 2,987
7| 4 27| 1t = RFEEEFE ST #IN0.508-No.513 4,102 100% 4,102
7| 10 28|41 77 BA 6 A SR 1,540 100% 1,540
7| 25 JNMEREBRIFESEM1ES 10,694 100% 10,694
7| 25 R|FEAHREFH7AS 3,300 100% 3,300
7| 27 3| HE v BT A S 4,400 100% 4,400
8| 1 A|FiR AT EESREM1ES 7,162 100% 7,162
8| 9 40| A5 847 A B BE s 1,540 100% 1,540
8| 18 M|/ —HERZESEH1ES 2,262 100% 2,262
8| 25 45| HTE Y NERE8 A 4,400 100% 4,400
9| 4 47| FEBHEFRHSA SN 3,300 100% 3,300
9 6 |REBFBRBESH1ED 8,662 100% 8,662
of 7 515 A B8 A5 1,540 100% 1,540
9| 22 56 |EEocHTE Y MBSO A & 4,400 100% 4,400
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COHMBICERT 2EEES T, BENEMTRABEAVBEESEXHERICEH L - EEES
E=HEBBLSICLTLEE Y, 1




x

(#n)

B E Y E O W ECERREER)

FHIRIZDEESR EH B A HK Bfi:M., %
A B| B =# s o X HARNE h
B 5 A B AxB
10{ 10 59| FEB#HmBEIHMOAS 3,300 100% 3,300
10[ 10 613 B AE G HERETRH1ES 5,330 100% 5,330
10| 12 62|t A B BIB9S 1,540 100% 1,540
10| 24 64| FEBAHEFTM10AS 3,300 100% 3,300
10| 24 65|Feoc Ty MBI 10A % 4,400 100% 4,400
1| 9 05 AR 10A & 1,540 100% 1,540
1] 21 B|FEBHBEFH11AS 3,600 100% 3,600
11| 24 74| E VBRI 1A 4,400 100% 4,400
11| 28 76| ., FHESEBEFHINASD 2,877 100% 2,877
12| 11 AR BEFR11AS 1,540 100% 1,540
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12| 18 83| HE bR 12A D 4,400 100% 4,400
12| 27 s4| FERHmBTM12AS 3,600 100% 3,600
1| 15 88| EiELERETFOIHEEH2F 7 12,110 100% 12,110
1| 18 91| A M BEEFR12A S 1,540 100% 1,540
1| 24 92| E v BT A S 4,400 100% 4,400
1| 29 YA FERHmETM1AS 3,600 100% 3,600
2| 14 o8| A A1 A5 1,540 100% 1,540
2| 22 104|5ese# Ay Mg 2 A 5 4,400 100% 4,400
2| 26 105| FEBAHEFTH2A S 3,600 100% 3,600
3| 6 108|/—HERTETM1ESD 2,152 100% 2,152
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3| 18 115 FFFE. FHESHFESHOMNA L 5,754 100% 5,754
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3| 25 18| FEBHRBEFHIA D 18 100% 18
5 i 199,717 199,717
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